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Mo ~1.99 x103° kg

M = 5mag

G ~6.67 x10™ 11

(pBeijing ~ 40° N
Au. =~1.5x101m
pc ~3.09x10%m
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z m H(min)
5 10.301 15.238
10 10.305 46.580
15 10.311 73.547
20 10.319 99.830
25 10.331 | 125.951
30 10.346 | 152.096
35 10.366 |178.370
40 10.392 | 204.852
45 10.424 | 231.620
50 10.467 | 258.753
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17
34
51
68
85
102
119
136
153
170
187
204
221
238
255
272
289
306
323
340
357

x'(arcsec) y'(arcsec)

0.00000
-0.00172
-0.00346
-0.00522
-0.00701
-0.00876
-0.01034
-0.01142
-0.01131
-0.00903
-0.00393
0.002789
0.008332
0.011098
0.011509
0.010585
0.009061
0.007322
0.005536
0.003766
0.002024
0.000303

0.004628
0.0045
0.0041
0.003383
0.002265
0.000613
-0.00176
-0.00506
-0.00937
-0.01418
-0.01783
-0.01817
-0.01497
-0.01021
-0.00575
-0.00227
0.000253
0.002017
0.003218
0.003998
0.00445
0.004624

time

2014.84
2014.867
2014.896
2014.929
2014.97
2015.023
2015.098
2015.209
2015.38
2015.644
2016.011
2016.435
2016.818
2017.1
2017.286
2017.406
2017.485
2017.542
2017.584
2017.618
2017.648
2017.675
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X
——cCosi = tan 6
y
cosi = 0.799655 i = 36.90°
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Xreal = X ) yreal_y/COSl
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